1. {545 Transmission format:

0.5ms ' :
O.Slms 1.5lns : 3Is
code 0 code 1 Lg% Start Bit

2, BEEEN: B EUERH 25SBIT #4, W TF BN, Data package: Each data contains 25 bit data, as shown below,

Start Bit

01121345678 91071112 13[14{15}16|1718719(20|21;22)25] 24

DATAL ‘. DATAZ DATA3 DATA4

Worst case duty cycle = (0.5 *26) / (3.5 + 1 x 25) = 0.45
Average factor = 20 log (0.45) =-6.9 dB
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REF -3¢.¢ dBm

PEAK

LOG
10
dB/

WA 5B
SC VS
CORR

CENTER 434.075 MHz

AT 10 dB

MKR 587.5@ msec
-56.77 dBm

#RES BW 3.0 MHz #VBW 3 MHz

SPAN @ Hz
#SWP 1.08 sec
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v MKR 78.50@ sec
REF -3@.0 dBm AT 1¢ dB -.45 dB
PEAK
LOG
19
dB/
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WA SB
SC VS
CORR
CENTER 434.075 MHz SPAN @ Hz
#RES BW 3.0 MHz #VBW 3 MHz #SWP 10@ sec
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